% Synchronization of Control Specifications
TEMP1 = Sync(SPEC1,SPEC2,SPEC3,SPEC4,SPEC5,SPEC6,SPEC7,SPEC8,SPEC9,SPEC10,
        SPEC11,SPEC12,SPEC13,SPEC14,SPEC15,SPEC16,SPEC17,SPEC18,SPEC19,SPE
        C20)  (117,1779)  Blocked_events = None  

SPEC = Sync(TEMP1,SPEC21,SPEC22,SPEC23,SPEC24,SPEC25,EVENTS)  (133,2225)  
       Blocked_events = None  

% Synthesis of Monolithic Supervisor (SUPER)

SUPER = Supcon(PLANT,SPEC)  (790,1566)

% Synthesis of Decentralized Supervisors (SUPER1~SUPER25)

SPEC1_ALL = Sync(SPEC1,EVENTS)  (8,178)  Blocked_events = None  

SUPER1 = Supcon(PLANT,SPEC1_ALL)  (52,111)

SPEC2_ALL = Sync(SPEC2,EVENTS)  (13,181)  Blocked_events = None  

SUPER2 = Supcon(PLANT,SPEC2_ALL)  (83,173)

SPEC3_ALL = Sync(SPEC3,EVENTS)  (6,127)  Blocked_events = None  

SUPER3 = Supcon(PLANT,SPEC3_ALL)  (61,133)

SPEC4_ALL = Sync(SPEC4,EVENTS)  (9,171)  Blocked_events = None  

SUPER4 = Supcon(PLANT,SPEC4_ALL)  (54,117)

SPEC5_ALL = Sync(SPEC5,EVENTS)  (6,127)  Blocked_events = None  

SUPER5 = Supcon(PLANT,SPEC5_ALL)  (61,133)

SPEC6_ALL = Sync(SPEC6,EVENTS)  (13,181)  Blocked_events = None  

SUPER6 = Supcon(PLANT,SPEC6_ALL)  (83,173)

SPEC7_ALL = Sync(SPEC7,EVENTS)  (6,127)  Blocked_events = None  

SUPER7 = Supcon(PLANT,SPEC7_ALL)  (61,133)

SPEC8_ALL = Sync(SPEC8,EVENTS)  (11,165)  Blocked_events = None  

SUPER8 = Supcon(PLANT,SPEC8_ALL)  (77,163)

SPEC9_ALL = Sync(SPEC9,EVENTS)  (5,137)  Blocked_events = None  

SUPER9 = Supcon(PLANT,SPEC9_ALL)  (51,113)

SPEC10_ALL = Sync(SPEC10,EVENTS)  (9,171)  Blocked_events = None  

SUPER10 = Supcon(PLANT,SPEC10_ALL)  (54,117)

SPEC11_ALL = Sync(SPEC11,EVENTS)  (5,137)  Blocked_events = None  

SUPER11 = Supcon(PLANT,SPEC11_ALL)  (51,113)

SPEC12_ALL = Sync(SPEC12,EVENTS)  (11,165)  Blocked_events = None  

SUPER12 = Supcon(PLANT,SPEC12_ALL)  (77,163)

SPEC13_ALL = Sync(SPEC13,EVENTS)  (5,137)  Blocked_events = None  

SUPER13 = Supcon(PLANT,SPEC13_ALL)  (51,113)

SPEC14_ALL = Sync(SPEC14,EVENTS)  (12,171)  Blocked_events = None  

SUPER14 = Supcon(PLANT,SPEC14_ALL)  (77,163)

SPEC15_ALL = Sync(SPEC15,EVENTS)  (5,137)  Blocked_events = None  

SUPER15 = Supcon(PLANT,SPEC15_ALL)  (51,113)

SPEC16_ALL = Sync(SPEC16,EVENTS)  (9,171)  Blocked_events = None  

SUPER16 = Supcon(PLANT,SPEC16_ALL)  (54,117)

SPEC17_ALL = Sync(SPEC17,EVENTS)  (5,137)  Blocked_events = None  

SUPER17 = Supcon(PLANT,SPEC17_ALL)  (51,113)

SPEC18_ALL = Sync(SPEC18,EVENTS)  (12,171)  Blocked_events = None  

SUPER18 = Supcon(PLANT,SPEC18_ALL)  (77,163)

SPEC19_ALL = Sync(SPEC19,EVENTS)  (5,137)  Blocked_events = None  

SUPER19 = Supcon(PLANT,SPEC19_ALL)  (51,113)

SPEC20_ALL = Sync(SPEC20,EVENTS)  (5,123)  Blocked_events = None  

SUPER20 = Supcon(PLANT,SPEC20_ALL)  (52,114)

SPEC21_ALL = Sync(SPEC21,EVENTS)  (4,103)  Blocked_events = None  

SUPER21 = Supcon(PLANT,SPEC21_ALL)  (50,111)

SPEC22_ALL = Sync(SPEC22,EVENTS)  (3,93)  Blocked_events = None  

SUPER22 = Supcon(PLANT,SPEC22_ALL)  (40,91)

SPEC23_ALL = Sync(SPEC23,EVENTS)  (5,107)  Blocked_events = None  

SUPER23 = Supcon(PLANT,SPEC23_ALL)  (53,116)

SPEC24_ALL = Sync(SPEC24,EVENTS)  (5,107)  Blocked_events = None  

SUPER24 = Supcon(PLANT,SPEC24_ALL)  (53,116)

SPEC25_ALL = Sync(SPEC25,EVENTS)  (8,180)  Blocked_events = None  

SUPER25 = Supcon(PLANT,SPEC25_ALL)  (58,123)

% Supervisor Reduction (SIMSUP1~SIMSUP25)


[bookmark: _GoBack]SUPDAT1 = Condat(PLANT,SUPER1)  Controllable.

SIMSUP1 = Supreduce(PLANT,SUPER1,SUPDAT1)  (5,92;slb=-1)

SUPDAT2 = Condat(PLANT,SUPER2)  Controllable.

SIMSUP2 = Supreduce(PLANT,SUPER2,SUPDAT2)  (7,134;slb=-1)

SUPDAT3 = Condat(PLANT,SUPER3)  Controllable.

SIMSUP3 = Supreduce(PLANT,SUPER3,SUPDAT3)  (4,107;slb=-1)

SUPDAT4 = Condat(PLANT,SUPER4)  Controllable.

SIMSUP4 = Supreduce(PLANT,SUPER4,SUPDAT4)  (4,90;slb=-1)

SUPDAT5 = Condat(PLANT,SUPER5)  Controllable.

SIMSUP5 = Supreduce(PLANT,SUPER5,SUPDAT5)  (4,107;slb=-1)

SUPDAT6 = Condat(PLANT,SUPER6)  Controllable.

SIMSUP6 = Supreduce(PLANT,SUPER6,SUPDAT6)  (7,134;slb=-1)

SUPDAT7 = Condat(PLANT,SUPER7)  Controllable.

SIMSUP7 = Supreduce(PLANT,SUPER7,SUPDAT7)  (4,107;slb=-1)

SUPDAT8 = Condat(PLANT,SUPER8)  Controllable.

SIMSUP8 = Supreduce(PLANT,SUPER8,SUPDAT8)  (6,120;slb=-1)

SUPDAT9 = Condat(PLANT,SUPER9)  Controllable.

SIMSUP9 = Supreduce(PLANT,SUPER9,SUPDAT9)  (3,87;slb=-1)

SUPDAT10 = Condat(PLANT,SUPER10)  Controllable.

SIMSUP10 = Supreduce(PLANT,SUPER10,SUPDAT10)  (4,90;slb=-1)

SUPDAT11 = Condat(PLANT,SUPER11)  Controllable.

SIMSUP11 = Supreduce(PLANT,SUPER11,SUPDAT11)  (3,87;slb=-1)

SUPDAT12 = Condat(PLANT,SUPER12)  Controllable.

SIMSUP12 = Supreduce(PLANT,SUPER12,SUPDAT12)  (6,120;slb=-1)

SUPDAT13 = Condat(PLANT,SUPER13)  Controllable.

SIMSUP13 = Supreduce(PLANT,SUPER13,SUPDAT13)  (3,87;slb=-1)

SUPDAT14 = Condat(PLANT,SUPER14)  Controllable.

SIMSUP14 = Supreduce(PLANT,SUPER14,SUPDAT14)  (6,120;slb=-1)

SUPDAT15 = Condat(PLANT,SUPER15)  Controllable.

SIMSUP15 = Supreduce(PLANT,SUPER15,SUPDAT15)  (3,87;slb=-1)

SUPDAT16 = Condat(PLANT,SUPER16)  Controllable.

SIMSUP16 = Supreduce(PLANT,SUPER16,SUPDAT16)  (4,90;slb=-1)

SUPDAT17 = Condat(PLANT,SUPER17)  Controllable.

SIMSUP17 = Supreduce(PLANT,SUPER17,SUPDAT17)  (3,87;slb=-1)

SUPDAT18 = Condat(PLANT,SUPER18)  Controllable.

SIMSUP18 = Supreduce(PLANT,SUPER18,SUPDAT18)  (6,120;slb=-1)

SUPDAT19 = Condat(PLANT,SUPER19)  Controllable.

SIMSUP19 = Supreduce(PLANT,SUPER19,SUPDAT19)  (3,87;slb=-1)

SUPDAT20 = Condat(PLANT,SUPER20)  Controllable.

SIMSUP20 = Supreduce(PLANT,SUPER20,SUPDAT20)  (4,88;slb=-1)

SUPDAT21 = Condat(PLANT,SUPER21)  Controllable.

SIMSUP21 = Supreduce(PLANT,SUPER21,SUPDAT21)  (3,85;slb=-1)

SUPDAT22 = Condat(PLANT,SUPER22)  Controllable.

SIMSUP22 = Supreduce(PLANT,SUPER22,SUPDAT22)  (2,65;slb=-1)

SUPDAT23 = Condat(PLANT,SUPER23)  Controllable.

SIMSUP23 = Supreduce(PLANT,SUPER23,SUPDAT23)  (4,90;slb=-1)

SUPDAT24 = Condat(PLANT,SUPER24)  Controllable.

SIMSUP24 = Supreduce(PLANT,SUPER24,SUPDAT24)  (4,90;slb=-1)

SUPDAT25 = Condat(PLANT,SUPER25)  Controllable.

SIMSUP25 = Supreduce(PLANT,SUPER25,SUPDAT25)  (5,94;slb=-1)
